Divide with Remainders

1. Use >, < or = fo complete the statement below.

414 8 4 9 3|3 6 6 8
[~ 2\ (- N\ ( )
1,000 1,000 100 100 10 10 1 1 1 1,000| | 100 || 100 10 10 1 1 1
1,000 1,000 100 100 10 10 1 1 1,000/ | 100 || 100 10 10 1 1 1
o 4 o J
) )
100 100 11 1,000/ | 100 || 100 [ [ 10 || 10 1 1
100 100 101
ﬁ — — VF
HW/Ext
2. Complete the Carroll diagram. Use place value counters to help you.
Remainder of 1 Remainder of 2
Answer between
1,000 and 3,000
Answer above
3,000
| 3364:3 | | 44864 | | e425:2 | [ 96353 |
ﬁ Ve
HW/Ext
3. Find the missing digits.
3 2 2 4 2 2 rl
!_ il ,.__--'I - - —
3 i 2|8 6
ﬁ -
HW/Ext
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Divide with Remainders

4. Use >, < or = fo complete the statement below.

6|17 8 4 6 719 1 4 7
1,000 1,000 1,000 100 100 100 10 10 1 1 1,000 1,000 1,000 100 10 10 1 1 1
1,000 1,000 100 100 100 10 1 1 1,000 1,000 1,000 10 1 1
1,000 1,000 100 100 10 1 1 1,000 1,000 1,000 10 1 1

VF
HW/Ext

5. Complete the Carroll diagram.

Remainder of or between 1 | Remainder of or between 4
and 3 and 7

Answer below
1,000

Answer above
1,000

| 2345:3 | | s5e96:7 | | ee09:5 | | 7629:6 |

VF
HW/Ext

6. Find the missing digits.

1 2487 EE 35
N T 8|9 E 3

RPS
HW/Ext
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Divide with Remainders

7. Complete the calculation to make the statement correct.

1 2 r7
<
6|1 3 4 5 8 9
VF
HW/Ext
8. Complete the Carroll diagram.
Remainder is a prime Remainder is a composite
number number
Answer below
1,000
Answer above
1,000
4,524 + 5 8,486 +7 4,239 + 6 9,816 + 9

VF
HW/Ext

9. Find the missing digits so that both calculations have a remainder of 5.

7 1 15 1 . *rS
A 2 3 4K 3% -

RPS
HW/Ext
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